Higher Mathematics Trigonometry 10-3 - Trig identities

SQA Past paper questions

2019 - Paper 1 - Question 17(a)

Express (sinx —cos x)z in the form p+gsinrx
where p, g and r are integers. 3

Click here for video solution. &~
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2017 - Paper 2 - Question 11(a)

Show that sin 2x

: 2 -3 T
—sinxcos  x =sin" x , where 0<x<—. 3
2cosx 2
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Click here for video solution. .5~

2016 - Paper 2 - Question 11(a)

. n 3n
Show that sin2xtanx =1 — cos 2x, where 5 <x< - 4

Click here for video solution. /i~
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2015 - Paper 2 - Question 7(b)
Show that 3cos 2x + 1 = 4cos?x — 2sin’x. 2

Click here for video solution. /i~
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